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int ans, a=7, b=3;

ROSNxRTUICEDEE ans DIEEZEZIXU),
(1) ans = a + b;

(2) ans = b - a;

(3) ans = b * b;

(4) ans =a/ a;

(5) ans = b % b;

B2 BHERDKLDICESUIC,

int a;
RDOSNERZTUICEDE a DEEZEZIXU),
(6) a=5;

(7) a=(int)1.8;

(8) a=(int)2.2;

(9) a=((int)1.7)+4;

(10) a=(int)((double)4+1.7);

B3 BHERODIDICEE UTHIEAE LIS,

int ans=4, a=3, b=2;
RDENZ=RTULEDEE ans DIEZS RS0\,
(11) a = b = ans;

(12) b = ans = a;

(13) ans *= a;

(14) ans -= ans;

(15) ans /= b;

B4 BHERODXIDICEE U THIEAE LIS,

int a=1, b=3;

ROBNEEZTUZEBEN (true T2IE false) ZBZRIRSU),
(16) System.out.println(true);

(17) System.out.println(false==false);
(18) System.out.println((a + b) >= 3);
(19) System.out.println((b % 2) == 1);
(20) System.out.println(-2 == (a -= b));
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(1) System.out.println( 1 + 1 );

(2) System.out.println( "1" + 1 );

(3) System.out.println( "1" + "1" );

(4) System.out.println( "1 +2 ="+ (1+2) );

(5) System.out.println( ( "1 +2="+1) + 2 );

(6) System.out.println( "1 +2 ="+1+ 2 );
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(1) 5

(2) ‘'a’

(3) "hello"

(4) true

(5) "false"

(6) ©5

(7) ‘'yy'

(8) 1.0e+2
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boolean a=[  |;

(1) if(a)System.out.print("A"); else System.out.print("B");
(2) if(a)System.out.print("C"); System.out.print("D");
(3) if(a); System.out.print("E");
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O int a=(int)2.8;
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import java.io.*;
class Intermediate6_0
{
public static void main(String[] args) throws IOException
{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

int score;
System.out.println("BiEHEZTNET");
System.out.println("BRZADLTCIZSI\");
score = Integer.parselnt(br.readlLine());
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